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(1)

(2)

(3)

(4)

(5)

1

Don asked Kathy to look over his report for him before he handed it in to the

teacher. Kathy found several spelling ( ), so Don fixed them.
1 errors 2 symbols 3 palaces 4 leaves
Roger feels great ( ) for his cat. He spends a lot of time taking care

of it and thinks of it as part of the family.

1 religion 2 affection 3 wisdom 4 justice

At the audition for the dance show, the students first had to perform
( ). Then, they were asked to dance together as a group.

1 financially 2 individually 3 legally 4 magnetically

When the flight was delayed, the airline gave each passenger $20 to
( ) them for the time that they lost.

1 inherit 2 compensate 3 expand 4 destroy

The class was preparing for the school festival, and the teacher made each
student do a different task. Susie’s ( ) was to make a poster.

1 generation 2 extinction 3 compliment 4 assignment
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(6) Hiroshi often reads books about how people lived in ancient ( ). He
likes to learn about the way that societies developed.
1 proportions 2 appointments

3 civilizations 4 supplements

(7) Mr. Brown reminded everyone that he wanted ( ) silence during the
test. He said that any student who talked during it would fail.

1 absolute 2 dazzling 3 generous 4 romantic

(8) The staff members at EZ Bank were ( ) because their computers
were so slow. They could not help their customers quickly enough.

1 forecasting 2 arresting 3 functioning 4 struggling

(9) While Ryan was making pasta sauce, he ( ) it with a spoon. He had
to watch it carefully to prevent it from burning.

1 amused 2 stirred 3 resisted 4 proved

(10) 4 : Why do you think Anne always asks me about what I'm doing on the

weekend?
B : Maybe she is ( ) that she wants to go on a date with you.
1 sacrificing 2 encountering 3 implying 4 forbidding
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( 11 ) After their discussion, Nick’s boss said she would think ( ) what he
had said and talk to him again about his request later.

1 over 2 up 3 with 4 around

( 1 2) A : Excuse me. I want to buy a train ticket, but the ticket machine won’t take my

money.
B : Oh, sorry. That machine is out of ( ). I can sell you a ticket here.
1 order 2 shape 3 sight 4 business
(13) Haruka did not make much money when she first started working as a hair
stylist, but her salary increased ( ). She had more and more customers
each year.
1 Dby degrees 2 Dby accident 3 at heart 4 at large
(14) Frank was ( ) the robbery by the police. However, he knew he had
not done it, so he found a good lawyer to help him.
1 kept off 2 admired for 3 charged with 4 warned of

(15) A : Mary does excellent work, but she never believes in herself.
B : You’re right. She needs to be more ( ) her ability.
1 engaged in 2 confidentin 3 specific to 4 appropriate to
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(16)

(17)

(18)

(19)

(20)

1

™

During the meeting yesterday, Alexandra’s boss was impressed that she could
answer all of his questions ( ). She did not need much time to think
about her responses.

1 in vain 2 by comparison

3 on the spot 4 at the peak

Greenville used to have a problem because its residents produced a lot of

garbage. Now, though, the city has a program to make ( ) of the
garbage by burning it to create electricity.

1 use 2 sense 3 sure 4 progress
: Would you mind my ( ) on the lights? I can’t read my book.

: Not at all. Please go ahead.
1 be turning 2 turning 3 be turned 4 turned

: Wow, you look so happy, Andrea! What’s going on?
: Austin just asked me to marry him. I feel as if I ( ) in a dream.

1 be 2 being 3 were 4 has been

Lucy Beacher’s research has won many awards, and she is known as an
expert in her field. Many people treat her as a person ( ) importance.

1 in 2 for 3 of 4 on
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Lava Mae

In many cities in the United States, the number of homeless people is
increasing because the cost of rent is rising and there are fewer homes that they
can afford. One such city is San Francisco, California. It is estimated that over
8,000 people are living on the streets there. With no homes, it is not surprising
that these people often do not have (21 ). In fact, the city has only about
20 public showers available for the homeless.

In 2013, businesswoman Doniece Sandoval came up with an interesting
project, called Lava Mae, to help the homeless with this problem. Sandoval heard
that the city was going to replace many of its public buses, so she raised money to
purchase some of them. She then turned them into places where the homeless can
shower. Each bus has two large bathing areas, as well as clean toilets. Most
homeless people also do not have soap or towels. (22 ), Lava Mae provides
such supplies for everyone who comes.

Sandoval’s solution has one major advantage. The shower buses can be
driven around to different places in the city each day. Also, Sandoval worked with
the city to get permission to use water from fire hydrants around the city. In this
way, the shower buses can go to the homeless people, so the people themselves
(23 ) to a place to wash their bodies. Now, other cities are showing interest

in Sandoval’s idea of changing buses into mobile showers for the homeless.

(21

(22)
(23)

1

1 the time to pay their rent 2 the chance to wash themselves
3 a place to change their clothes 4 a way to access any services
1 Inrare cases 2 Despite this 3 Even so 4 Because of this
1 do not have to travel 2 can pay less money
are not able to live next 4 provide more water
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Go with the Flow

In recent years, climate change has been causing sea levels to rise in many
parts of the world. According to scientists, this problem ( 24 ). They say
that, by the end of this century, sea levels are expected to rise by about a meter
worldwide. Consequently, major cities like London and New York could end up
covered in water due to flooding. In fact, in some cities, flooding is already
occurring.

In response to this, city planners and engineers have begun efforts to build
barriers, such as dams and large concrete sea walls, to protect cities from water.
This has helped a little. Unfortunately, though, these kinds of barriers may not
(25 ). This is because scientists believe that powerful storms are likely to
increase due to climate change. The high waves produced by such storms could
easily reach over the barriers, spilling water into cities that barriers currently
protect.

Although this seems like bad news for coastal cities, some architects believe
it is a chance to reconsider how water is used. In fact, according to Koen Olthuis,
the founder of a Dutch company called Waterstudio, more water is not necessarily
a problem, but can actually be a solution to many modern problems. For example,
dams that are built to protect cities from water can also be used to produce
electricity. (26 ), by creating buildings that float on top of water, the
buildings will be able to move with the rising water levels. In this way, cities can

work with water, rather than fight against it.

(24)

(25)

(26)

1

1 is going to get worse

2 should be solved by experts

3 has already occurred in the past

4 can be caused by modern technology

1 stop rain from falling 2 be as effective in the future
have caused more flooding 4 have damaged the environment

1 At most 2 In contrast 3 Moreover 4 Otherwise
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From: Larry Spears [l-spears3 @toosoft.com[

To: Angela Landers Ja-landers1 @toosoft.coml

Date: May 31

Subject: S7 Software Conference

Dear Ms. Landers,

I’'m sending you an e-mail today about the S7 Software Conference that will be held
in Los Angeles this summer. Our company has decided to participate in S7 again
this year. We plan to use the event as an opportunity to show some of our new
ideas to the public. Therefore, we will need some employees to show products from
each of our software development teams at S7.

Your team will also need to present one new product. As the team leader, you must
select one employee to attend the event and to give a presentation. That person will
also have to spend time meeting people and answering questions about our
company. Peter Harris from the accounting department will book plane tickets and
hotel rooms for the trip.

The product you choose must be something interesting that has not been advertised
yet. We want it to be a surprise for the audience. The presentation will be on the
main stage at S7, so make sure the employee you select is a good speaker and
comfortable in front of a large audience. We will discuss the details of the event at a
special managers’ meeting next month. Meanwhile, please let me know who will be
attending by the end of the day.

Sincerely,

Larry Spears

General Manager, Toosoft

(27) Why will Toosoft participate in S7?
1 It wants to attract new employees to its company.
2 It wants to introduce its new ideas to the public.
3 Some products have been selling poorly this year.
4

Some teams will soon move to Los Angeles.

(28) What is Ms. Landers asked to do?
1 Give a public presentation on software.
2 Choose someone to go on a business trip.
3 Contact Peter Harris in the accounting department.
4 Attend a software conference for the company.
(29) Next month at Toosoft,
1 managers will write e-mails about their projects.
2 people will begin advertising a new product.
3 employees will speak to a large audience.
4

there will be a meeting to prepare for S7.
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Opera for Everyone

Opera is a traditional performance that started in Italy in the 16th century and
became popular around the world. These classical music performances are now held in
theaters known as opera houses. Although going to the opera is usually expensive,
recently audiences have been growing in size. This fact, of course, makes opera houses
and their performers happy. According to current research, however, these growing
audiences also hide a big potential problem—the average age of audiences is high.

The average age at the State Opera in Berlin in Germany, for example, is now 54,
while that at the Metropolitan Opera in New York City is 58. In Houston in the United
States, the largest age group going to the opera is between 65 and 72 years old. This
means that, although opera companies are enjoying a good income now, they are worried
about their audiences getting much smaller in the future.

In order to preserve this traditional art form, opera houses have been working to
attract more young people to their performances. One of the most successful examples of
this is at the Paris Opera. In 2018, the Paris Opera managed to attract 95,000 people
under the age of 28 to its performances—30,000 more than the previous year. One way it
has done this is by offering special shows for people under 28 at low prices. It has also
produced a series of videos about opera aimed at young people that was released on the
Internet.

The Royal Opera in London has also seen an increase in young audience members.
It says that now 39 percent of people booking tickets for their performances are 40 years
old or younger. As the audiences have gotten younger, though, their behavior has begun
to change. For example, when evil characters in the operas appear on stage, young
audience members often shout or make angry sounds. However, in the past, this only
happened when performers sang badly. Some older people were worried that the
performers would be upset, but the performers have actually welcomed the reaction. They

say that it shows audiences are becoming more relaxed and are enjoying the opera more.
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(30) What is one way opera has been changing in recent years?
1 The cost of performances has decreased more and more quickly.
2 It has finally become popular in many countries across Europe.
3 There has been an increase in the number of people who visit opera
houses.
4 Opera houses research to learn what makes audiences happy.
( 31 ) Why are opera houses around the world concerned?
1 Many opera singers prefer working in Europe to working in the United
States.
2 Opera is no longer popular in large cities such as New York and Berlin.
3 They have begun to lose profits after a number of small opera houses
opened.
4 Their income is likely to decrease in the future because their audiences are
getting older.
(32) The Paris Opera
1 has begun to offer special services to encourage young people to get
interested in opera.
2 gave free tickets to 30,000 young people to increase the number of people
in its audience.
3 hired performers who are under 28 years old to attract new audiences.
4 has examined videos of young people on the Internet to make
performances that interest them.
( 33) What changes have occurred at the Royal Opera?
1 Performers feel more relaxed with more young people in the audience.
2 Audiences have gotten angry that performers are singing badly.
3 The way audiences react to performances is different from in the past.
4

It has become easier for people under 40 years old to purchase tickets.
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Knowing Where to Go

Many animals move from one place to another as the seasons change—this is called
migration. Usually, they spend the summers in cooler places and the winters in warmer
places. Scientific research has shown that some animals are born with the knowledge of
when and where they should move. Others, though, do not have such an instinct. In such
cases, they must learn from their parents or other members of their group.

A team of scientists at the University of Wyoming studied how animals called
moose and bighorn sheep learn to travel. The team chose moose and bighorn sheep living
in the mountains in the western United States. This was because, in the 19th century, a
disease had caused the death of a large number of these animals. However, in recent
years, scientists have brought a number of these animals from other places to restore their
populations. Therefore, there were both new and old groups to compare.

The scientists used GPS technology to track the movements of hundreds of moose
and bighorn sheep. Some belonged to older groups that had lived in the west for more
than 200 years, while others were part of newer groups that had recently been introduced
to the area. The result was that almost all the members of older groups migrated at the
right time between the higher and the lower parts of the mountains. However, newer
groups usually moved at the wrong time or did not move at all. In fact, among animals
that arrived within the last 10 years, only 9 percent were able to make the move
successfully.

In addition, the scientists recorded how much food was available along the migration
routes that each animal took. They found that animals from older groups chose routes that
had large amounts of food—sometimes traveling great distances between food sources.
However, animals from newer groups only moved to nearby sources of food that they
could see. According to the scientists, this shows that moose and bighorn sheep have
gained knowledge of the best routes from older members of their groups, but this

knowledge did not exist in the newer groups.
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(34)

1

What is one thing scientific research has shown?

1 Traveling from one place to another is a recent skill gained by many
animals.

2 Most animals rely on their parents to teach them how to do a variety of
important tasks.

3 Young animals prefer moving around with their parents to moving with
other group members.

4 Moving between warm and cold places in different seasons is an instinct
for some animals.

What is true about moose and bighorn sheep in the western United States?
1 There was a large decrease in their populations in the past.

2 There are some diseases that both types of animals are safe from.

3 Scientists are looking for a way to teach them how to migrate.
4

Scientists have begun to move them from the west to other areas.

Scientists at the University of Wyoming
1 suggested that new animals should be added to older groups.
noticed that only 9 percent of moose moved to new mountains.
3 found that older groups were better at migrating than newer ones.
4 worried that it would take new groups at least 10 years to learn to migrate.

Based on their study, the scientists believe that
1 older groups have trouble finding sources of food that are nearby.

a majority of animals prefer to eat food that they are able to see easily.
3 newer groups are able to smell food in the distance and move toward it.

>

some animals are able to share knowledge of faraway sources of food.

Which of the following statements is true?

1 Some moose and bighorn sheep have been brought to the west in recent
years.

2 A group of scientists decided to live in the mountains of the west to study
animals.

3 Most animals fail to notice when the temperature or seasons change.

4 GPS technology has allowed scientists to record available food sources.
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TOPIC
People around the world live longer lives than they did in the past. Do
you think people will live even longer lives in the future?

POINTS

e Changing lifestyles
® Developing countries
e Technology
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Listening Test
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010

No. 1 Buy a new computer.
Write an e-mail to the Edisons.

Go camping with their children.

B W N =

Order some flowers on the Internet.
No. 2 He needs to finish the sales report today.
He needs to call his sales manager.

He should come to the office as soon as possible.

B W -

He should take the day off from work.
No. 3 The weather was not good.
The water was not clean.

There were sharks in the area.

B WN =

There were big waves.
No. 4 She is the leader of a study group.
She is doing poorly in his class.

She needs to turn in an assignment.

B W -

She needs more time to read a book.
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B W N B W N B W NN

B W -

They forgot to clean a blouse.
They delivered the wrong blouse.
They damaged a blouse.

They charged too much for a blouse.

She walks for an hour every day.
She needs to go to Allenton soon.
She is thinking of going hiking.

She wants to swim in the Royal River.

He can only cook one type of dish.
He does not have much money.
He does not enjoy cooking.

He is busy running a business.

Most of them did not turn out well.
He printed them out on Thursday.
He could not hand them in on time.

They were the first ones he took this year.
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No. 9 He needs more space for his things.
They should check before throwing things away.

Their company is 20 years old.

B WN -

She needs to write a sales report.
No. 10 He took a taxi home.
He got a ride home.

His bus arrived early.

B W -

His practice was canceled.
No. 11 Her son needs help getting home.
Her son has lost his money.

Her son is not feeling well.

B W -

Her son cannot find the train station.
No. 12 It is very expensive.
It has a very sweet taste.

It is only sold in restaurants in Spain.

B WON =

It goes well with the restaurant’s food.
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No. 13

No. 14

No. 15

B W - B WN -

B W -

It is close to her house.
It is not very expensive.
She needs some special ingredients.

She cannot find a normal supermarket.

He took the bus.
He went on foot.
He called a taxi.

His wife drove him.

Get a library card.
Return the book right now.
Borrow more than two books.

Keep the book longer than two weeks.
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No. 16 They could not have a picnic.
They could not find a park.

She forgot to make their sandwiches.

B WON =

She was late for their date.
No. 17 Start earning more money.
Train new police officers.

Change his office.

B WN -

Learn about the law.
No. 18 A movie will be shown.
Tammy Parker will give a talk.

Club members will meet some actors.

B W N -

A tour of Hollywood will begin.
No. 19 They go on holiday in other countries.
They throw water at each other.

They fly in hot-air balloons.

B WN -

They drink a lot of water.
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No.

No.

No.

2020 1 2

20

21

22

23

B W N B W N B W NN

B W -

At a store in France.
At a department store.
From an online shop.

From a shop near his home.

She enjoys the winter there.
She has to care for her husband.
Her husband will come back from Japan.

Her parents told her to stay there.

Help more women to become programmers.
Start a business with other programmers.
Learn more about programming.

Write a new program for her company.

Competition winners will get free tickets.
Staff will sell The Blue Wizard gift sets.
Another play will be performed.

Winning ticket numbers will be announced.
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No. 24 By selling her TV.
By finding a better job.

By writing in her basement.

B W N =

By working in the living room.
No. 25 People wanted a new snack to eat at home.
George Crum liked thin snacks.

There were many potatoes in 1853.

B W -

A customer complained about thick fried potatoes.

No. 26 Travel around the United States.

Ask his company for more money.

Finish his final classes.

B WN =

Work at a company.

No. 27 It is the name of a famous farmer.
It is often played in the winter.

Players carry heavy cheeses.

B W -

Players eat three kinds of cheese.
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No. 28

No. 29

No. 30

B W - B WN -

B W -

Give Sandra his grandmother’s ring.
Save more money for a ring.
Ask his grandmother for money.

Buy a ring with Sandra.

By taking a survey.
By joining a yoga class.
By visiting the gym twice a week.

By coming to the gym every weekday.

To help workers in other companies.
To get people to work faster.
To let people work at home.

To attract more workers.
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